1D

200 kDa
150 kDa
100 kDa

BAF53A 45 kDa

200 kDa-------
150 kDa-------
100 kDa------

80 kDa-----
60 kDa-----—
50 kDa-----

40 KDa------
30 kDa------

20 kDa------
15 kDa---—--

ACTB 42 kDa



200 kDa------

200 kDa—— ... 150 kDa-----—--
150 kDa------- «e 100 kD@-------
100 kDa------- w.e 80 kDa------- —
80 kDa------- — 60 kDa-------
60 kDa------- 50 kDa-------
50 kDa------- — 40 KDgemmmmmv ——— — — — ACTB 42 kDa
40 kDa------- - 30 kDa------- —
30 kD@--——— — PR P s G S—— GCLM 31 kDa 20 kDa------- -
20 KDGommeee —— 15 kDa-------
15 kDa _______ Scr. kd1 kd2 Ser kd1 kd2



4F

GCLM 31 kDa

200 kD@------- N
150 kDa----- i
100 kDa------
80 kDa-----— _—
60 kDa-----— -
50 KDa-—--- .
40 kDa------
30 kDa------— -—
20 kDa------ —

15 kD@----r = =

BACH1 140 kDa

200 kDa-------
150 kDa------
100 kDa-------

80 kDa----—
60 kDa---—
50 kDa------
40 kDa-------

30 kDa-----— °

20 kDa----—
15 kDa------

kd2

Scr

kd1

kd2

ACTB 42 kDa



41-1

80 kDa------
60 kDa------
50 kDa-------
40 kDa-------

30 kDa-----—

20 kDa-----—
15 kDg----—

BAF53A 45 kDa

IgG BAF53A

200 kDa
150 kDa
100 kDa

-
—
—
—
—

—
—

IgG BAF53A

BACH1 130 kDa

200 kDa
150 kDa
100 kDa

IgG

ﬁ BAF53A 45 kDa

BACH1

200 kDa
150 kDa
100 kDa

Cm—

IgG BACH1

BACH1 130 kDa



4]-2

200 kDa-----—
150 kDag----—
100 kD@------ —

- BAF53A 45 kDa

IgG BAF53A

200 kDa-----—
150 kD@ % #
100 kD@ & « o BACH1 130 kDa

IgG BAF53A

200 kDa-------
150 kDa------
100 kDa-------

80 kDa-------

—
-
-
S—
e d
—
[ —
—
-——
-——

IgG BACH!1

BAF53A 45 kDa

IgG BACH!1

BACH1 130 kDa



6B-1

200 kD~
150 kDa------- 200 kDg------—-
100 kDa------- 150 KD@----—-

80 kD 100 kDa----—

60 kDa-—-——-- - 80 kD@ e

50 kD@~ 60 kDa-——— —

40kDa-—— GCLM 31 kD 50 kDa—— —

30 kDa—- "= TN g = . a 40 KDars ACTB 42 kDa

20 kD@~ 30 kD~

15 kDa-—— o

15 kDa-—
kd  kd kd  kd
+GCLM  +GCLM kd  kd kd  kd

+ GCLM + GCLM



6B-2

200 kDa------- 200 KDg--——--
150 kDa------- 150 KD@---—--
100 kDa------- 100 kDg-------
80 kDa------- " 80 kDa----—-- . _
60 kDa------- - 60 kDa------- « =
50 kDa-—----—- — 50 kDa------- =« Ty
- e - a
40 kDa------ o S W = W®  GCLM 31kDa 40 kDa-—— —
30 kDa-----—- 30 kDa-------
20 kDa------- — 20 kDa------- ==
15 kDa------- — 15 kDa--—— . .
kd kd kd kd
+ GCLM + GCLM kd kd kd kd

+ GCLM + GCLM



